BEHEE EHRT

EX T R STE BE
PEP ¢ 50 (%1 %})
EFZOMES ¢ 50 EE 250 + 34 = 284 m 284 m
PEPD50 (##) 284 50 = 5.7 6 &
EEPEPD50 ¢ 50 EE 15 = 15 m 15 m
15 / 50 = 0.3 1K
EFV4 vk ¢ 50
2 = 2 2 &
PE#EOFY7h - LT F ¢ 50
1 (BEHMER= 0653) L = 0.653 = 1 1 1A
THKEITFE ¢ 150 X 50
Bl F TR LR 1 (BHMER= 0217) L= 0217 = 1 1 48
PEPEE T4 RV vk ¢ 50 % 50
1 (EMER=0242 ) = 0.242 = 1 1 _{@&
RYRY—D ¢ 150
1 = 1 1 &
Vv BlhBIFEE ¢ 250
1 = 1 1 48
Ly avBlich B H = ¢ 250
H=610 1 = 1 1 %8
wIT4—FMow W=75 28.4 + 1.50 + 0.65 + 022+ 024 + 1.30
= 32.3 323 m
PEP ¢ 50(T3)
BERELT
BEK-150-800 1 = 1 1 &R
&stT
K-50P-700 31.0 = 31.0 31.0 m
RITAMET
DTE#f (£ ) L=9.0KmLLF 310 X 035 + 1. X 189 = 12.7 13 m3
EE &#&E1
T RAI7ILEHERR 15cmU T 1Z#R 13 + 15 + 15+ 310 + 05+ 310
- 05 + 06 + 0.6 = 67.5
AEIR
1.9 + 18 + 18 + 313 + 1.66
= 385
106.0 110 m
BHEHLE M Bl P FE A
(/MVRHE) T=3cm{R 15 |0 20 + 155 + 0.3 = 17.8
T=5cmA{E(H 34 + 14 + 520 = 56.8
74.6 75 m’
B As#g L=3.0KmLLF
BTV ER(ASER) | (FhZmFE x0.03) 178 x 003 = 0.53
(SH%EmETE x 0.05) 568 X 0.05 = 2.84
3.37 3 m3
Ak 106.0 X 170L/100m X 1/1000
= 0.18 0.2 m3
EMET PEP ¢ 50 284 + 15+ 065 + 022 + 024
= 31.0 31.0 m
EMRFT ¢ 50
(EF#F:100) 6 = 6 6 HEFT
EMRFT ¢ 50
(EFf#tF:200) 2 = 2 2 HEr
THrKERT @ 150 X 50
1 = 1 1 &
Ly vavh)-MEF T hEl$2=
H=610 1 = 1 1B
HEREIR BEEHAs
t=3cm 17.8 = 17.8 18 m
TEERIE 1.8mELTF
(EHZEAEIHEIR) 56.8 = 56.8 57 m
HEAREIRE BEEHAs
t=5cm 56.8 = 56.8 57 m
XE#HRT E#H W=45cm
1.0 = 1.0 1 m
BEKFEREI (KFEY) DV ¢ 30 .




BEHEE EHRT

X [FRAE HER HE
HEKFERET (FikY)
PEERZEHY b ¢ 50x 30
1 1 1 A
FNIFLVE —EBE
¢ 30 0.5 0.5 05 m
A—B—RYT vk ¢ 30
PPX1=#4>Fvk 1 1 1 {&
REttH# ¢ 30
1 1 1A
BEE a1k ¢ 30
51k K 1E A 1 1 1 &
IR ¢ 30
(EMFI@TSHF) 4 4 4 &
VPY4ykHI ¢ 30
(EMFI@TSHF) 1 1 1 A
BEE ¢ 30
HIVP 0.5 0.5 0.5 1.5 1.5 m
Vyavsl BRI RS ¢ 200
H=150 1 1 1 48
2 VE Y\ E ¢ 200
H=610 1 1 1 48
EMFET ¢ 50
(PP#F) 1 1 1.0
EET PP ¢ 30
0.5 0.5 05 m
EMFET ¢ 30
(TS#EF:100) 1 1 1B
EMFET ¢ 30
(Ts#EF:20) 4 4 4 PR
EMET VP ¢ 30
1.5 1.5 1.5 m
Wk ERET ¢ 30
1 1 1
Loravy)—MERT INR R
H=610 1 1 1B
mrET 2%
2 2 2 K
mrET 3E!
2 2 2 K




